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Part — |

Child Development and Teaching method

Q1. Which of the following pairs is not true?

1) Stimulus-response theory of learning-Thorndike

2) Operant conditioning theory of learning-B.F. Skinner
3) Classical theory of learning-Pavlov

4) Holistic theory of learning-Hull

Q2. Whose name is associated with ‘Father of the Eugenics’?
1) Crow and Crow

2) Galton

3) Ross

4) Woodworth

Q3. Who described different types of personality based on glands?
1) Kretschmer

2) Jung

3) Cannon

4) Spranger

Q4. “Creativity is a mental process to express the original outcomes.” This statement is given by
1) Cole and Bruce

2) Drevahal

3) Dehan

4) Crow and Crow

Q5. The tendency of ‘Feeling of Revolt’ is concerned with which of the following ages?
1) Childhood

2) Infancy

3) Early adolescence

4) Middle adolescence

Q6. The period of learning, where no improvement in performance is made, is called
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1) learning curve

2) plateau of learning
3) memory

4) attention

Q7. The formula of calculating 1Q is

1) Mental age x Chronological age
2) Chronological age

Mental age

) Mental age

x 100

Chronological age

4) Chronological age + Mental age

Q8. Who has propounded the law of trial and error of learning?
1) Kohler

2) Pavlov

3) Thorndike

4) Gestalt

Q9. In a normal zygote, the number of chromosomes in pair is
1) 22
2) 23
3) 24

4) None of the above

Q10. Operant conditioning theory is propounded by
1) Hull

2) Thorndike

3) Hegarty

4) Skinner

Q11. Kohler is associated with which of the following?
1) Theory of motivation

2) Theory of development

3) Theory of personality

4) Theory of learning

Q12. Fluid mosaic model of intelligence was proposed by
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1) Cattel

2) Thorndike
3) Vernon

4) Skinner

Q13. Brainstorming model of teaching is used to improve which of the following?
1) Understanding

2) Application

3) Creativity

4) Problem solving

Q14. Goleman is associated with which of the following?
1) Social intelligence

2) Emotional intelligence

3) Spiritual intelligence

4) General intelligence

Q15. Find the odd out

1) Theory of learning to learn
2) Theory of identical elements
3) Drive reduction theory

4) Theory of generalization

Q16. The lowest level of cognitive achievement is
1) knowledge

2) understanding

3) application

4) analysis

Q17. A boy who can ride a cycle is going to drive a motorbike. This is an example of
1) horizontal transfer of learning

2) vertical transfer of learning

3) bilateral transfer of learning

4) No transfer of learning

Q18. Which of the following is not the cause of plateau of learning?

1) Limit of motivation
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2) Non-cooperation of school
3) Physiological limit
4) Limit of knowledge

Q19. “Learning is the modification of behaviour through experience and training.” This statement
was given by

1) Gates and others

2) Morgan and Gilliland

3) Skinner

4) Cronbach

Q20. ‘Stanford-Binet Test’ measures
1) personality

2) reading efficiency

3) intelligence

4) None of the above

Q21. Who was classified introvert personality and extrovert personality?
1) Freud

2) Jung

3) Munn

4) Allport

Q22. The factors affecting the social development of children are
1) economic elements

2) social-environmental elements

3) physical elements

4) hereditary elements

Q23. Which of the following is a primary law of physical development?
1) Law of difference from mental development

2) Law of irregular development

3) Law of rapid growth

4) Law of relation from imagination and emotional development

Q24. Which of the following is not the theory of development?

1) Theory of conditioned reflex
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2) Theory of continuous growth
3) Theory of interrelation
4) Theory of uniform pattern

Q25. “Development results in new characteristics and new abilities.” This statement is given by
1) Gesell

2) Hurlock

3) Meredith

4) Douglas and Holland

Q26. Instincts are classified in fourteen types by
1) Drever

2) McDougall

3) Thorndike

4) Woodworth

Q27. “Attention is the concentration of consciousness upon one object rather than upon another.”
This statement is given by

1) Dumville

2) Ross

3) Munn

4) McDougall

Q28. Which is not included in primary law of learning?
1) Law of readiness

2) Law of exercise

3) Law of multiple response

4) Law of effect

Q29. Which test is propounded by Dr. S Jalota in Hindi for the children of 12 to 16 years?
1) Non-verbal intelligence test

2) General mental ability test

3) Army alpha test

4) Picture drawing test

Q30. Who propounded the two-factor theory of intelligence?
1) Thorndike
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2) Spearman
3) Vernon
4) Stern

Part — Il
Language — Il (English)

Q61. Complete the following sentence with correct conjunction:
he had not paid his bill, his electricity was cut off.

1) But

2) Either

3) Unless

4) As

Q62. Choose the correct figure of speech in the following sentence:
Death lays his icy hand on kings.

1) Metaphor

2) Personification

3) Apostrophe

4) Simile

Q63. The study of population is known as
1) Ecology

2) Astronomy

3) Demography

4) Genealogy

Q64. Give the meaning of the following proverb:

A bird in hand is worth two in a bush

1) To catch two birds with your hands

2) To be dissatisfied with what you have

3) Itis better to be satisfied with what you have than to try to get what is not yours

4) To trap birds in bushes.
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Q65. Which of the following sounds is not associated with the sound of a bell?
1) Chime

2) Jingle

3) Ring

4) Dang

Q66. Fill in the blank with the correct preposition:
Areyou sorry __ what you have done?

1) with

2) for

3) by

4) over

Q67. Pick out the correct synonym of the following word:
Attenuate

1) Repent

2) Force

3) Divide

4) Make thin

Q68. Pick out the compound sentence

1) To add to their troubles the servant ran away

2) Having no money with me, | could not give the beggar anything
3) I loved him because he was my friend

4) The servant ran away and added to their troubles

Q69. Select the most appropriate preposition to complete the following sentence:
Why are you always so suspicious _~~ me?

1) to

2) with

3) of

4) for

Q70. Choose the correct alternative to complete the following sentence:
The Headmaster to speak to you.
1) wants

2) is wanting
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3) was wanting

4) None of the above

Directions: Read the given passage carefully and answer the questions (Question Nos. 71 to 75)
that follow by selecting the most appropriate option.

Antarctica is an icy continent in the South Pole. It is covered by permanently frozen ground, is
surrounded by water and is about 1.5 times longer than the United States. The World’s largest
desert is in Antarctica. 98% of the land is covered with a continental ice sheet; the remaining 2% of
land is barren rock. Antarctica has about 87% of the world’s ice. The South Pole is the coldest,
windiest and driest place on Earth. The coldest temperature ever recorded on Earth was at the
South Pole; it reached as low as -128.6° F or -88.0°C. On an average most of the Antarctica gets
less than 2 inches of snow each year. Although scientific expeditions visit Antarctica, there are no
permanent human residents. This is because of the extreme weather, which includes freezing
temperature, strong winds and blizzards. There are about 4000 seasonal visitors to Antarctica.
Antarctica hasn’t always been located at the South Pole. It has drifted, like the other continents and
has ranged from the Equator during the Cambrian period, about 500 million years ago to the South
Pole. During the time of the dinosaurs, Antarctica was more temperate and housed dinosaurs and

many other life-forms. Now there is very little indigenous life.

Q71. The word ‘icy’ in the passage is a/an
1) noun

2) adjective

3) adverb

4) homonym of ‘ice

Q72. The word ‘desert’ in the passage is a
1) noun

2) pronoun

3) verb

4) verbal

Q73. The word ‘windiest’ in the passage is a
1) second form of verb

2) superlative form of adjective

3) superlative form of adverb

4) positive form of noun
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Q74. Has Antarctica always been fixed in the South Pole?
1) Yes

2) No

3) May be

4) Not given in the passage

Q75. Who are the earliest known inhabitants of Antarctica?
1) American scientists

2) Indian scientists

3) Dinosaurs

4) It has always been a desert

Directions: Read the given passage carefully and answer the questions (Question Nos. 76 to 80)
that follow by selecting the most appropriate option. The first thing which a scholar should bear in
mind is that a book ought not to be read for mere amusement. Half-educated persons read for
amusement, and are not to be blamed for it; they are incapable of appreciating the deeper qualities
that belong to a really great literature. But a young man who has passed through a course of
University training should discipline himself at an early day never to read for mere amusement. And
once the habit of discipline has been formed, he will find it impossible to read for mere amusement.
He will then impatiently throw down any book from which he cannot obtain intellectual food, any
book which does not make an appeal to the higher emotions and to his intellect. But on the other,
the habit of reading for amusement becomes with thousands of people exactly the same kind of
habit as wine-drinking or opium-smoking; it is like a narcotic, something that helps to pass the time,
something that keeps up a perpetual condition of dreaming, something that eventually results in
destroying all capacity for thought, giving exercise only to the surface parts of the mind and leaving

the deeper springs of feelings and the higher faculties of perception unemployed.

Q76. The writer believes that half-educated persons are not able to
1) enjoy wine-drinking

2) enjoy dreaming

3) think properly

4) appreciate hidden qualities of admirable literature

Q77. The word ‘narcotic’ in the passage means
1) great literature
2) intoxicant

3) cheap books
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4) intellectual exercise

Q78. The phrase ‘the higher faculties’ in the passage means

1) different departments in the University

2) different ways of enjoying things

3) mental powers of a high order for understanding great literature
4) superficial part of the mind

Q79. The word ‘eventually’ in the passage means
1) after some time

2) at last

3) never

4) initially

Q80. The word ‘unemployed’ in the passage means
1) jobless

2) in search of employment

3) not working

4) unused

Q81. Which of the following is a correct expression?
1) As cheerful as a lark

2) As busy as a bat

3) As cunning as a dog

4) As happy as a donkey

Q82. The sentence, “This is the house in which | was born”, is
1) a simple sentence

2) a compound sentence

3) a complex sentence

4) a compound-complex sentence

Q83. Which of the following words is a preposition?
1) Beyond

2) And

3) Yet

4) Now
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Q84. Which of the following words is an adverb?
1) Apace

2) Face

3) Meek

4) Fury

Q85. Join the following sentences to make a simple sentence:
The coffee isn’t too strong. It won’t keep us awake.

1) The coffee isn’t to strong to keep us awake

2) The coffee isn’t too strong and will not keep us awake

3) The coffee isn’t too strong so it won’t keep us awake
)

4) The coffee isn’t too strong so as to keep us awake

Q86. Fill in the blank with suitable pronoun:
My son and my daughter are very fond of
1) herself

2) each other

3) themselves

4) himself

Q87. Give one word for ‘one who hates mankind’.
1) Nazist

2) Fascist

3) Misanthrope

4) Sadist

Q88. Transform the following sentence into a simple sentence ending with ‘book’:
Let the book be given.

1) Give me the book

2) Give the book

3) Please transfer the book

4) Can you give the book?

Q89. Transform the following sentence into a direct sentence:
| asked Sheela if | might know her father

1) | said to Sheela, “May | know your father?”
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2) | told Sheela, “May | know your father?”
3) | asked Sheela, “Can | know your father?”
4) | questioned Sheela, “Will | know your father?”

Q90. Fill in the blank to complete the following sentence:

The Ministers are responsible _ the Chief Minister of their State for their work.
1) for

2)to

3) of

4) towards

Part - IV

Mathematics

Q91. The height of a rectangle in a histogram shows
1) frequency of the class

2) width of the class

3) upper limit of the class

4) lower limit of the class

Q92. In a constructivist classroom, teachers should not do which of the following?
1) Allow students to develop their own strategies to solve questions

2) Ask students to rote memorize formulae

3) Create situations for exploration

4) Allow students to construct meaning for mathematical tools

Q93. The difference of two complementary angles is 40°. The angles are
1) 65°, 35°

2) 70°, 30°

3) 25°, 65°

4) 70°, 110°

Q94. When 121012 is divided by 12, the remainder is
1O
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2) 2
3) 3
4) 4

Q95. Which of the following should be assessed in a student?

1) Mathematical communication

2) Capacity to memorize without understanding

3) Capacity to listen to teacher

4) Attitude of not asking questions even if the concept is not understood

Q96. The difference between the maximum and minimum observations is called
1) frequency

2) class size

3) range

4) mean

Q97. The smallest prime number is
1)2
2)3
3)5
4) 7

Q98.1f 24 is g of% of a number, then what will be % of that number?
1)8

2) 12

3) 10

4) 32

Q99. The square root of 7 + 210 is
1) (V6 + 1)

2) WV3+2)

3) (V2 +V5)

4) (2 +5)

Q100. The most important person, related to the method of ‘Analysis of Variance’ in statistics, was
1) R.S. Fisher
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2) Gauss
3) Laplace
4) Newton

Q101. If%th part of 60% of a number is 36, then that number is

1) 100
2) 75
3) 80
4) 90

Q102. rtis a/an

1) rational number
2) irrational number
3) prime number

4) integer

Q103. If% = g = % then the value of %b” is

1) V2
2)7
3) 2

1
4+

Q104. The digit of unit place in (378 x 236 x 459 x 312) will be
1)6
2)8
3)2
4) 4

Q105. The HCF and LCM of two numbers are 12 and 72 respectively. If the sum of these numbers
is 60, then one of the numbers will be

1) 12

2) 24

3) 60

4) 72
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Q106. A teacher wrote on the blackboard:
Find 29 x 4
A student copied it on her notebook as 27 x 4 and solved it as follows:

2
27

x4
108

The teacher should

1) give 0 mark to the student

2) ask her to be attentive in the class and give 0 mark

3) give 2 marks out of 5 marks to the students

4) try to ascertain the reason of wrongly copying the question by the student and give her full 5

marks for the correct process

Q107. If the cost price of an article is z of its selling price, then the profit or loss percent is
1) 33 % profit

2) 33 % % loss

3) 33 % % loss

4) 33 % profit

Q108. The total area of four walls of a room is 660 m? and the length is twice its width. If the height

of the room is 11 m, then the area of its ceiling is

1) 200 m?

2) 150 m?

3) 100 m?

4) 75 m?

Q109.1f604 6 is divisible by 11, then the integer in the blank space is
1)1

2)3

3)7

4)5

Q110. Who was the self-taught Indian mathematical genius in the 20" century?
1) Aryabhatta
2) Sridharacharya
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3) Srinivasa Ramanujan
4) Harish Chandra

Q111. Twice the larger of two numbers is three more than five times the smaller and the sum of four
times the larger and three times the smaller is 71. What are the numbers?

1) 43,8

2)11,9

3)14,5

4)17,1

Q112. A cube of side 5 cm is painted on all its faces. If it is sliced into 1 cm® cubes how many 1 cm?
cubes will have exactly one of their faces painted?

1) 142

2) 27

3) 42

4) 54

Q113. Which measures of central tendency’ get affected if the extreme observations on both the
ends of a data arranged in descending order are removed?

1) Mean and median

2) Mean, median and mode

3) Mean and mode

4) Mode and median

Q114. Every digit of a natural number is either 3 or 4. The number is divisible by both 3 and 4. What
is the smallest such number?

1) 333

2) 444

3) 44

4) 4444

Q115. Find the sum of all the interior angles of a pentagon.
1) 450°

2) 180°

3) 360°

4) 540°
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Q116. % of a pole is in the mud. When § of it is pulled out, an 8 meters long piece of the pole still

remains in the mud. What is the total length of the pole?
1) 21 meters
2) 25 meters
3) 30 meters
4) 12 meters

Q117. A and B can do a piece of work in 12 days, B and C in 15 days, C and A in 20 days. How
long would A take separately to do the same work?

1) 10 days

2) 20 days

3) 30 days

4) 40 days

Q118. D, E and F are respectively the midpoints of the sides of AABC. Which of the following is

true?

1) Area of ADEF = Area of AABC
2) Area of ADEF = % Area of AABC

3) Area of ADEF = § Area of AABC

4) Area of ADEF = % Area of AABC

Q119. If the difference and the product of two numbers are 5 and 36 respectively, then their

reciprocals differ by
1)~
2)=
5
3) 5

9
4)5
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Q120. A two-digit number is such that the product of its digits is 6. If 9 is added to the number, the
digits are reversed. The number is

1) 16

2) 35

3) 43

4) 23

Part -V

Environmental Studies

Q121. Which of the following agencies is primarily concerned with the measurement of pollution in
India?

1) Green Tribunal

2) Central Pollution Control Board

3) Central Water Commission

4) Survey of India

Q122. ‘Cotopaxi’ is an active volcano situated in
1) Sicily

2) Hawaii

3) Andes

4) Rockies

Q123. Tsangpo river of Tibet, in India, is known as
1) Ganga

2) Yamuna

3) Brahmaputra

4) Indus

Q124. In a food chain of grassland ecosystem, the top consumers are
1) herbivorous

2) carnivorous

3) bacteria

4) either carnivorous or herbivorous

Q125. The main atmospheric layer near the surface of the earth is
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1) stratosphere
2) troposphere
3) mesosphere
4) ionosphere

Q126. The number of permanent members of the UN Security Council is
1) 3
2)4
3)5
46

Q127. Sariska National Park is situated in
1) West Bengal

2) Gujarat

3) Rajasthan

4) Assam

Q128. The main source of energy in an ecosystem is
1) ATP

2) sunlight

3) DNA

4) RNA

Q129. ‘AGMARK’ is related with
1) quality

2) packaging

3) processing

4) production

Q130. The problem of water pollution with arsenic is maximum in
1) Uttar Pradesh

2) Madhya Pradesh

3) Bihar

4) West Bengal

Q131. The Wildlife Protection Act was passed in
1) 1960
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2) 1962
3) 1972
4) 1975

Q132. The process of curd production from milk is known as
1) photosynthesis

2) distillation

3) fermentation

4) sterilization

Q133. Fundamental Duties are adopted from the Constitution of which country?
1) Germany

2) United Kingdom

3) USA

4) USSR

Q134. The Polestar is
1) North star

2) South star

3) East star

4) West star

Q135. ‘Project Tiger’ was started in India in
1) 1972
2) 1973
3) 1981
4) 1985

Q136. The Valley of Flowers is located in
1) Jammu & Kashmir

2) Himachal Pradesh

3) Sikkim

4) Uttarakhand

Q137. How many bones are present in an adult human being?
1) 305
2) 275
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3) 206
4) 175

Q138. The Headquarters of Greenpeace International is located in
1) New York

2) Sydney

3) Amsterdam

4) Nagasaki

Q139. During light phase of photosynthesis, is oxidized and

1) water, NADP
2) NADPH,, CO:
3) CO., water

4) CO2, NADPH,

Q140. What is not true for LPG?
1) Itis a clean fuel

2) It has high calorific value

3) It burns with blue flame

4) It is methane emitting

Q141. The origin of species is a work of
1) Aristotle

2) Charles Darwin

3) Mendel

4) Robert Hooke

Q142. The Tropic of Capricorn is

10
1) 23~

2) 232°N

3) 231es
2

4)23°S

Q143. The Head Office of The International Court of Justice is situated in

1) Geneva
2) The Hague

is reduced.
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3) New York
4) Paris

Q144. The Constituent Assembly adopted our National Anthem on
1) 20" January, 1950

2) 24" January, 1950

3) 215 May, 1949

4) 13" November, 1949

Q145. Where is Pushkar Fair held?
1) Jaipur

2) Udaipur

3) Jodhpur

4) Ajmer

Q146. Which of the following ultraviolet rays is more dangerous?
1) UV-A
2) UV-B
3) Uv-C

4) None of the above

Q147. Which of the following is not an abiotic component of biosphere?
1) Protein

2) Soil

3) Fungi

4) Phosphorus

Q148. ‘Gir Lion Project’ is situated in
1) Gujarat

2) Maharashtra

3) Uttar Pradesh

4) Madhya Pradesh

Q149. WWEF stands for
1) World Wide Fund

2) World War Fund

3) World Wildlife Fund
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4) World Watch Fund

Q150. The river Ganga rises from
1) Aravalli range

2) Ladakh glacier

3) Gangotri glacier

4) Milap glacier

YT — |
a1a fasTa ug fRreror fafer

Q1. Y & ¥ HH-I1 g Tt el 82
1) e &1 I ues-3Afhar Riera-yU-ene
2) I o1 fbamga srgew Ryegr-
o1 T, PR
3) WA~ &1 FAIsd gHd — daad
4) Hra- &1 9w Riegd — g

Q2. 3T 3 fohrTahT A Yok & U ¥ ST §3M 82
1) 51 Td 31

2) TMeeA

3) I

4) gsad

Q3. U & NYR R Afdkid & [ UpRI & =i foam 3t g2
1) HRAR B

2)gn

3) B

4) TR

Q4. GG Tiferes alRumet o) sfierdd #3- &) AHRIS Ufshar 814 98 Hu §
1) ®Id T4 57 BT

2) Gag Bl

3) SIgH &1

4) 1 Td I BT



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Q5 “fagig @1 UIaT &1 Ught o & 9 forg e § Iwafid 82

Q6. T~ 1 98 3rafy, 9ie TRa- &1 ufehdn i Iafd a1 sldl, Hedrd &
1) YRa4 &1 d%b
2) e BT ISR

3) Wfd

4) 39y

Q8. e H UIrI d Wel & RigT= &1 ufdureH fobe fobar?
1) HIgeR

2) U9t

3) YHSEH

4) TR

Q9. I GG HIR1HT H TUREH & oIS B1d &
1) 22
2%23
3) 24

4) Ider H 9 P15

Qlo.?mw&wmmuﬁumm
1)edl

2) YHaEH A

3) gmel 4

4) RERY

Q11. Piger Y & I frad Tfd g2

1) TYUROT &1 g

2) forg &1 Rigrd

3) HfGdd-HT Rigrd

4) 3y &1 g

ng. §fg & R fheda ufaa™ & ufaures HH
Qy?

1) hed

2) UHeTEH

3) T



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

4) PR

Q13. e gq AFRI® Igad Ufaa™ &1 g g o
¥ frae guR gq frar o g .

1) 99

2) ST

3) goHTHG T
4) TR FHIYH

Q14. MaaH 9 7 I frud TafRig g2

15. A9 & S A9 I T 82
1) 31 & fore 31femH &1 Rigr=a
2) M 3fadcd &l Rigrd

16. YIS TR BT FAaH WR 8
1) I

2) Y

3) SFFYART

4) fazeiwon

Q17. U STdieh, SN ITSfhdl I Sl 8, AleRdIs® Ia IRd 81 ¢ | Ig 380l gHTT
1) &S T Sf=RT BT

2) S SHATH 3=aRT BT

3) fenfes siferma srarur 1

4) Big i fTHIRT T8

Q18. 7 & T H19-31 3UfATH P USSR BT HRU T&f 872
1) UROTT ST AT

2) foeea &1 srrgam

3) ARING AT

4) 9 1 AT

Q19. “3ffFTH, 3IHT 3R UfR&Ur & URUTHRGEY g1 § uRadH g I T8 HuH fhe g faa
1) TCH 9 3

2) A 3R fferdus

3) PR |

4) HTaH

20. RABIS-fom Tteor 7MY el §
1) fedd BT
2) UG- &1 G&fdl &l



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

3) §fa BT

4) I B 4 P To!

21. HE Afdda Ud I3 Afdda BT aviidhRul faha- [T g2
1) IS .

2) g
3T
4) 3{TAUIE

Q22. §I & IS [AH™ B YHTAd HR ad PRSP &

Q23. g T ¥ ®H-a1 IR fawm &1 e @ o g2
1) AHR® faer ¥ fiaar &1 a9

2) 3t afiq fasr o1 g

3) T fdbr o1 g

4) fpur 3R GamEs e T T &1 g

Q24. FE & ¥ HH-I1 far &1 Rigr 76l 872
2) TR o &1 g
3) IRER G HT g
4) 9 UfH ™ &1 Rigra

sz$Wmmﬁwmmmélwawwm%?
1)

2) gl

3) Sy

4) ST 3R IS

Q26. T UgiEl &1 dieg YR Y fhem Fifed fbar 872
1)

2)

3) Yt

4) gsad

Q27. foreit TUS I BT 3TUEHT Th I WR AT BT H-o1hUl 3@ g1" T8 HUH §
1)Sftaa &1

2) G BT

3) HaT

4) AH g Bl

%gﬂaﬁ@raﬁ?ﬂmﬁ%g@ﬁaﬁﬁmﬁa
?

1) deRdl &1 9 |

2) 31 &1 e



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

3)“dg- 3fhar &1 fFam
4) Mg BT Fam g

Q29. 12 Y ¥ 16 98 & F=! & forg =<l & SF- TH. e 3 & -1 uRiefor ufauifed farar g2
1) 3o g TG

R) TTYRUT AR IRrdT Gtefor

3) 3THf 3T Usteror

4) i glteon

Q30. g & fgd R Rig &1 ufdured fbaq febar?
1) Y-SR ® §

2)

3) g4

4) &

HIT - || PART - I
HTyT-1 (R
=T (wy o 31-35) : AW U werw FAufifEa ws & 98t faweu Bifleu| 1 & ugHs

3 3 gHaw S g1 31 T81 ¥ 981 d gHd gHd Hedhd &l d YRd Ugd | Ife gATHS! BT a1 51+ -
RO {1 BT, Afe 9 Ueh I WR &1 I8, al 315 HRd H 3 a=1el 7 g1d | WA & gHG S U
YA HETAR HaD S A | TH-Bg b $S o+l D! SledR Udh R H g1 §G & a= HI Ta! ATl 35
I B A H I8 od U fhan| 35 I F 80 I BI 31g b o S9! Hog § 45 I8 db 9 AR
I 81 X5 | 3T SIS FHIS IR U U=R H TR 35 | 30 Rl @ I e YT oY faad Ay
®. fhegsih gaset BRI It g I HRA & ST6R ol 1T, fobgf Ieh Rl A I7b gl 1 KRR 3t
R feran 3R gd o SITa, IR H weiferan, uff ® Aergar 3R Sfor ¥ aTelt €19 dd urdT ART| Sraur
TETAR A WS¢ [aaRUT & fo18 30+ el ab P AN [T | fERMST &l S5i- SIU-T 3R §7 for,
ot & S ferar, areT & SRR T foba | SfiaTodi= T 361 AIHd & Sedivn & forg wrdl & 31
UERH & o 3R Y aRE a¥ &1 a1 § T dax Hft ava, H T e, &t R iR
Fi. Wwﬁwéﬁlwﬁﬁﬁw%ﬂmwwwﬁmﬁwwl
yﬁr&wm%ﬁw 999 & for, Yfa o 1 ve & fo idrard & uaal 4 81 dfee o &1 I
BSEal

Q31. 'gHIH S Vg | HIF-T1 YT 82
1) s

2)S

3) 3lg

4) b

Q32. HETdR TTH! BT o7 Pal AT UT? .
1) GTaTgRy A

2) QEIet! |

3)§arﬁ=ﬂw

4) IR

Q33. W5 H pI- iy g2
1) fomt


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

2) X

3) U
4) o

Q34. HETH g - Od §gcd YT {1 ddl STeb! a1 fobat &i?
1) 12 3¢

2) 35qY

3) 45T ..

4) 80 Y

Q35. Yfd et F1FHar 3 §2
1) o go

2) qg

Q36. Y Trs w1 TEfE § 13
1) T

2) {5

3) qof

4) &ur

Q37. Y 331 eI TP a1 H 9 §
1)

2) HHATA

3)” HIgdTH &

4)3cre:jaaﬁ“€rﬁ§%"r
Q38. Rl gd Y P M8 & RN T Wt §

Q40. FrspUe Teg &1 IfY-fawde §
1) + puc
2) Ay + pue
3) 1 + ®Ue
4) A=+ FUe

Q41. Y ¥ 9 Y e &1 T+t el 82
1) 3TIRId


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

2) SR
3) 3Tl

4) 3fgafed

Q42. 30T HT fIRYUT =Y HT g2
1) o

2) JU&T

3) Uy

4) 3ufer

Q43. T G BT ITRU RIM FHT 82
1) <d

2) g

3) dIg

4) adiq

Q44. I e | U ST §
1) 3iq

2) 31

3) 3

4) 3fd

Q45. IUTHT BT AU §

1) g4 forg udd & Uis ¥ fAdad 8
2) UTORHY & Uc &1 T 31T

3) Udd &1 fRRaR

4) 94d & U B YfH

Q46. T’ B IERY VM Bl 8
1) TRy

2) @

3) geg

4) HEdTAY

Q47. TR TS AaHd | SIH-91 faivor g2
1) G=ATEID

RICIELY

3) URATUETEH

4) TrEIHS

Q48. TN T dH U HT 82
1) 2fi=m

2) 2

3) R1

4) 2w

Q49. <IRIET Teg H AN
1) FHYRT



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

2) g

3) f
4) TG

Q50. 31T Ht fprfH g BT 31 3
1) 30T T

2) URgTeAT

3) HYETID Gl

4) 9gd g g

Qs51. fafaRed & Aife® sl 1
1) I aat

2) gog

3) Y@

4) 3T HTYOT

Q52. fg=at Hrer # fra-t siferar g2
1) 15
2) 25
3) 18
4) 22

Q53. YRag g1 H e areht Ui 8.
1) ®idaa gul-ig=at udla

2) IREIH-ATERT

3) Heg-IHIGT

4) FaTd- BT

Q54. T’ URDBT S JHIGH &I 19 &
1) ATelTeR SLSt

2) oy vrrg faard

3) B UHT IUTeA™

4)

Q55. “TRE SR Al bR Sitd, 3% ke @l o8 REaR |+ g dfda fraat g2
1) fasmmufa

2) d¢ aRalg

3) RUfd ATeg

4) SATA®

Qs6. e # fovg a1 7 fe=t wron 1 v ferg wd s  foa sirer &2

Q 57. IR fobg HIST B} =71 27
1) 3faeft

(2) gt


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

3) S
4) BUTG!

Q58. RI T BT 81 THT HidT fra fordt g2
1) T $HR Ag™
2) gHET $HAR! AIgH
3) ARGl Idad! &
4) IR R Ty

Q59. FHfIRIT & ¥ HI-Tt BN 3R dci-1 F Y[ UV BT 62
1) ATRfA® o

2) Ui {197

3) THRIVIh HTHT

4) HFE HTST

Q60. FgfeIRad # T SIH-T1 I *3MegRIvS & 1 A URIg 82 I URiee 872
1) GRARTS! T

2)

3) TRHTA 4T

4) e I

HAT - 111 / PART =l
HTUT — (P )
gfemdf Rafefad urT & Ut & IR daa adi S afe 37 U 11961 fadwed Tpd 1 81|

3T : TRGd TeRaUE & SMUYR R UY 4. 61 T 63 AP & Ul & Tg! SR GIfoig|
U RTIER Halfeg deHt: Urddie sfaad Umal—

TR TUG; AT AW | 3T 378 hiaTeold Hadl dreday|” S| IaT uradt sfaad— TH Ug; A
fR1a: 3fcr| Riquawy sramed: yer: 3 wan gt sigwsq) Wi Hadr: ufc: a2 sfa | «wy ufa:
RITRTT FfdRaa gfa Iadad aradt | &g saadq—To 9 we:2” 3fa | 31 uxpufa $fa siaeq
grdcit | 979 : U IR s 3fA sraaq aeH: | Taes: del-urddl: Iam: 9y Hga™ Yag|

Q61. Rauew aFd: &: 2
1) W™

2) STIa:

3) RIT:

4) U

Q62. TRIAUS &A1 :UH: Jgd ?
1) M g

2) grdan

3) qemT .

4) gifa



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Q63. HUY: YdY: Tt YA HIT?
1) TIEHT:

2) qrde: .

3) A&H-uTda:

4) a:

Q64. TN &1 BT §
1) FAf=at &1 fpareia s
2) HHiedl Bl fpar=iia s

3) SYfd BT
4) Iudad quft

Q65. I Aiger Affa Iaru e
1) WRARIA: &1

2) dred aqlf ara &1

3) Sl UHTE: BT

4) feam = &1

Q66. S U BT 1D TARR &
1) 0,
ZARNK
3) &X(
4) T

Q67. T YT ¥ g U HRb (ST BT
1) TR,

2) 4Ry

3) &®H

4)%’@:

Q68. HARY:’ IETEI0 &
1) TR BT

2) IS BT

3) famiaf® &1

4) UHTdYUTd BT

Q69. & FIaTH s 1 7
1) P AR Y Y
2)FHIRTY
3)YRT A
H)FAR YA

Q70. a7 o1q forg 70T Y B2
1) IGIor

2) 3ferferor

3) dAIGTOT

4) SgrTieITor


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Q71.H SR STl § &1 Whd & HHared arad ghm
1) 38Y 3MTqUi T=BIH

2) 74T 3{T90} TRd

3) Hel TRd 39U

4) SRATY: 3Tl TR=d

Q72. Iunfr A AR g .
1) Ui

2) IR=T

3) &

4) ga=Y

Q73. 9% AT g
1) 01
) &
E)C |t

(4) 99

Q74. 3T Voa-THE &
1) 91, 9, I

2) 3, T, T

3) o, 31¢AT, JUR
4) 79:, 98, 9Y:

Q75. I B G&pd TSI T 2
1) Fa9dfa:

2) SHrfifar:

L CARINIRE

4) U c:

Q76. T & Ugdd Upfd Td UTd §
1) 1H + ¢

2):ﬁ+?g'c[

3)%f+F§I:c:

4) 999 + ¢

Q77. AR Ul §
DRI S

2) U (32 3)
) U (YR )

4) Tai T SFARYD

Q78. ‘3 UTER & auf §
1) MR AT IR
(2)3d3g3¢T

(TN AAEYC

(9) 33T


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Q79. T A HH AR §
1) o[ 9

2) 01 9

3) 9fa I

4) S R

Q80. UYTIY & TN §
1) TG

2) UG

3) Iguilie

4) =

Q81. TUg e &1 YL Uhddd FY gRTI
nT g
2) g fuar
3) ¢ fua:
2) g fo:

Q82. Fu & I B Tgad o g2
Hg
)7
OEl

4)Y
Q83. =Y 31 T HIH-IT YT T Bl 52
1) 991
2) qq

3) addg
4) Y

Q84. ‘T THd 3! T &7 ST AP | 3HIdle T 82
1) 37 ¥®pd AT 8

2) A e SfeR

3) TRl Y Iad

4) 71 ¥t Ard

Q85. ‘HHeTTagiar § 3 fban 31eam 82

1) 15 (I<®)

2) 18 (3(3RE)

3) 20 (d19)
4) 16 (9I8)

Q86. IR A Al UHA g ‘T AU §
1) Y
2)dqq
3) Udc]
4) «dx

Q87. TG TH HT IS8T &



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

1) gTaxI
2) 3ffrsR
3) ASYRY: B
4) iR

Q88. 9 I ®H aqfdxfaugdiear & A ¥ =1d 8?2
1) 1G0T

2) HRTHRA &I

3) SRATUSYRTYT

4)

Q89. Y I HT IaTER01 §
1)

2) fagrerafa

3) dgIeh

4) farsupRgrer

Q90. Txpa-AIed ¥ forg Hfd &1 7o * &I “fagaIve ool T 872
1) YRfa

2) 4

3) BTG

4) g

HRT - IV
. Tfora
Qo1 ST farst 3mrafed & 3mad &1 $ars |
1)39 g7 P} IRWERAT
2) 39 I Bl TS
3) I T Dt HUT AT
4) 39 T & fg

Q92. T TeTeeh hafl H fR1erehl bl 5 H F a el 1 =feu?
1) foenfiat &1 ust & 86 gor & ford S(UAT il [ae RId @R &L
2) faenfifdl &1 93 Yo & forw Fg

3) U uRfRufaar s foms faemeif gat @iom & vaw &

4) faenffay o i et & oo o1 a9 ST |

Q93. 3l DGR B BT 3R 40° B 1 ST BIUT B
1) 65°, 35°

2) 70°, 30°

3) 25°, 65°

4) 70°, 110°

Q94. 121012 &Y 12 J Y 1 R AYHA §
1)0

2)2


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

3)3
4) 4

Q95. Tt faendf & fAg & @ 1 i1 =nfeu?
1) TIOTCT UwoT

2) o1 992 e &t e .

3) e BT G BT &l 7

4) AYRUME 7 FHH W W U 7 Y& &I Ugi

Q6. 3N 3R gATH VU HT <R Heddl §
1) 3mgf

2) aif /19
3) URTR
4) 71

Q7. T BIE MY T ®
1) 2

2)3
3)5
47

Qgs.Wﬂwg%Zwm%W%,a‘rwﬂwwiwm?
1)8
2) 12
3) 10
4) 32

Q99. 7 + 2vI0 HT A §
1) (V6 + 1)

2) WV3+2)
3) (V2 +V5)
4) (2 +/5)

Q100. TRt F TRRUT o1 fa=evor A fafer &1 T 99 o1
1) 3R. T. TR &

2) T3 &I

3) AT &I

4) e B

Q101. fehft TeT & 60% BHE ¢h f URT 36 &, I 78 G &
1) 100

2)75


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

3) 80

4) 90
Q102.M 8, T&h
1) gAY e
2) (U T=AT
3) a{wﬁm
AR IED

Q103. & =2 = TR A M P aM g
1) V2

2)7

3) 2

4)

Q104. (378 x 236 x 459 x 312) & UFHA H SHIS BT 3H I
1)6

2)8
3) 2
4) 4

105. & SBT3 & HeaH YHIGd® d aYgaH SHIIad HH: 12 9T 72 € | af 1 Sl &1 anmha

60 B, d 378 I Uh T3 g
1) 12

2) 24
3) 60
4) 72

Q106. T% & 3 siwpars R fora:

29 x 4 T B

T faanmelf = oot 3naT-giadT IR 39 27 x 4
JART TUT A1 TN STER B foba:

x4
108

IREEZARISK]

1) faemif & o sie 3 =1flRw

2) 39 faendf ¥ wem & g 387 &l HeHR 0 3P ¢ AT &

3) 39 faendf &1 5 3/l A q 2 3fcp T AU R ¢

4) T8 BRI T BT YA BT AT b faamif 3 us o1 aa o IarT aur 39

Eﬁm$ﬁmq§5%éﬁﬂﬁﬁ
Q107. Tfe Tl avg &1 HU-Hed I fAFa-Hea F1, 3/2 8, A AH AT A vfa=ia g &



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

1) 3329 A
2) 33:% 1M
3) 33:06 BT

1

4) 33296 Y

Q108. [ HIR B! IRI AR BT FA &AHA 660 m? § TUT TS D! ArSTs P gl o | TG B
DI ST 11 3§, Al SUD! B BT &AHd §

1) 200 m?
2) 150 m?
3) 100 m?
4) 75 m?

Q109. g TBT 6046, 11 T faurT 81, Ot e = &1 QUi §
1)1

2)3
3) 7
45

Q110. 204t T} & 3 WiAfera YR o ufqua™ safdd S 32
1) 3EHT

2) SR

3)” Fifar A

4) I I=

Q111. TGS H A St WA BT GIHT SISt I & Urd A ¥ i Sa1al § a1 TS §H & IR
3R B WA & o 79 BT AT 71 |1 9 WATE 5T 82
1) 43, 8

2)11, 9
3) 14,5
4)17,1

Q112. 5 cm YOIl A Ueh T & T+t Tash! IR 7 IR STl 81 IS 3/ 1 cmd a1 ORI H Tl ST ©,
dl 1 cm® 9T fobd= Ol T Hddl T g1 ol TR I gRIT?
1) 142

2) 27
3) 42
4) 54

Q113. TfE 3faRIg! HH T W T 3fiHa! & aHl BRI I TRH V&I §eTT A §, Al H<1d Ugfl & HH-°
HU% THIFAd 81 872
1) H1eT 3R HILHS §


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

2) Hied, MeA® 3R Tgad
3) M 3R IgadH
4) IgeI SR AIHD

Q114. et Ui T T UIS 3idh ATdl 3 T4 81 TS WA 3 3R 4 T § fauTiord gt ]
T e B e 1 82

1) 333
2) 444
3) 44
4) 4444

Q115. UaYS & JHt 3=d:PI0T &1 TNT AT DI

1) 450°

2) 180°

3) 360°

4) 540° .
Q116. Udh T™ PT 4/7 R HIAS | &1 ¢ | 5Td &Y §U BT 1/3 U 18R Wil ST &, df ura 1 o 8
Hiex A H1 gedT 3t oft pias & g1 & T TS T gRit?
1) 21 Hiex

2) 25 Hiex

3) 30 Hiex

4) 12 HieR

Q117. A 3R B f&dt s &1 12 fRF H o b B 1 B 3R C I S o1 15 fg7 & qur ¢ ik A It
®TH B 20 fT T TR b B A 3fhdl ST 1 1 fbaa fo & R e

1) 10 feT

2) 20 f&A

3) 30 f&A

4) 40 &=

Q118. AABC &1 Y131l & HeAfagy AT D, E 3R F & g H ¥ SH-91 9 82 1!

1) ADEF T &5thel = > AABC &1 &athel
2) ADEF &7 &% d = AABC &1 &t dl=

2

3) ADEF &1 &t = ; AABC &1 &thel
4) ADEF &1 & d = ; AABC 1 &t d

Q119. TfE Y TS BT 3R TUT: TUHHS HH: 5 TUT 36 Y, Al 37 HhHI BT 3R B
1)~

31
2) v


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

3)

nlo vlun

4)

Q120. et G1-3fP T T-T & 3| BT TUFHA 6 &1 | 39 WeAT H 9 Site- I U T& H il & I
Sed od &1 98 J=I 8

1) 16
2) 35
3) 43
4) 23
Q121
URT -V
TAiaR o 3eaa—

Q121. HRd ¥ FEfRed & § HH-T Toid T U I Uyl & A0 ¥ Hafed g2
1) 9 fesgea

AL AR LAE RIS

3) B ST AT

4) 9 3 3fosar

Q122. ‘PRI Th SITId STl §, St 3afd g
1) faaet
2) gars
3) TUSt |
4) RMebTel H

Q123. fisad 1 I 7t YR & fobg 9 | ST St 82
1) T

2) qg-1

3) sieTgA

4) Ry

Q124. TIH-TYH &7 & TIRAT B! TR 4T & Yo I TR P UM 8Id &


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

1) RIHTERT

2) AEeRY

3) Sffary

4) GNTERY 91 AhTERY

Q125. ARYHSH BT THE &R, Sl gedi-ael & Toidie 8, §
1) gHATTHS A

2) &iyred

3) HFHSA

4) MATHEA

Q126. TYarT Y JR& uRyg # fobd Rl Haw 52
1)3
2) 4
3)5
4)6

Q127. GR¥HT LI I SHafRd &
1) f3H sa

2) oI o

3) TSR |

4) 3 H

Q128. TiRkfUfa® o7, & Sl &1 7= A §
1) W <. O,

2) QI-UHI

(3) L. T. T,

4) 3R.T. T.

Q129. TWHTS' &1 Y= 8 F §

1) ToraT
2) Ao
3) IO 9


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

4) 3G

Q130. 3T GRT JA-UgHU Falfie ...
1) SR Uex 4

2) A Y |

3)fogrR AT

4) Ufgm ST §

Q131. Toild YR YT UTiRd fobarm 73T 2,
1) 1960 &
2) 1962 H
3) 1979 #
4) 1975 1

Q132. TY I 1.9 B! Ufchdl Bl Hed &
1) UPHTRI-HCIo0T

2) 3TFaH

3) fopua

4) WRAZORA

Q133. frT Iz & T T Afeies el o o
T 57

1) ST g

2) gAgcs ey

3) 9 T T

4) g, TH. T, 3R.

Q134. YadRT HET Sl g 3
1) 79 IR ARI B

2) Gl ar &1

3) Jdl IR &I

4) TfEyd AR B

Q135. YRd H Hivide <R’ U™ o mar ot


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

1) 1972 H
2)1973 ®
3) 1987 ¥
4) 1985 T

Q136. ‘Gl ! U AU & G off

Q137. THh aa%h AFd § $a TRl &1 T farat et 872
1) 305
2) 275
3) 206
4) 175

%138, YR Zex-=Md &1 eATey Safyd §
1) a1 o

2) e o

3) UWicsq |

4) AT |

Q139. UHRN-TIATU & UHRMIT TR H GRHE BT HRIR0I T FHT UI gl gl .
1) STl NADP

2) NADPH;,, CO,

3) CO,, 5Id

4) CO,, NADPH,

Q140. Td. Ut 5. & T & T g Y 82
1) I8 T WD SUT 8 X

2) U8 3= ST A BT 2

3) g =l SaTell ¥ e 9Tl §



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

4) I8 AT IHoH B aell §

Q141. The Origin of species (uaﬁu‘rﬁ G‘c‘?lﬁ'f) Udh X[ %’
1) 3] Bl

2) I SIfd= @t

3) A i dl

4) TCgh D!

Q142. AFR A1 §
1O
1) 237
2) 232°N
2
1

3)232°S
4)23°S

Q143. S=RISH TR HT TEITT AU R |
1) SHaT |
2)81H g
3) i |
4) UG o

qL44. TIGUT FHT F AP T DT ST
1) 20 SHasY, 1950 &I

2) 24 SHERT, 1950 BT

3)21 1S, 1949 B §

4) 13 FTTWR, 1949 BT

Q145. TH AT gl Aford farar S 872
1) SRR

2) ISAR .

3) SYQR

4) 3SR


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

q146. T WIS fHrol & @ S19-a1 sifweeR® 32
1) UV-A
2) UV-B
3) UV-C

4) Iugerd H A P1E o

Q147. Fufafed & @ HH-T1 SgHsd &1 3Ifdd Ucd gl 82
1) gieH

2) Hal

3) Hab

4) BB IRY

Q148. R W uRASAr SafRa g
1) ToRTd |

2) HERTY H

3) SR Y &

4) AT Y H

Q149. &Y, =Y, UF. § MR §
1) IS dI3S Hhe

2) I AR S

3) Ice AREARE e

4) 98 dld g

Q150. TATT 77} et §
1) RIS Uit &
2) WENG TWRAR I
3) T TORAR
4) fi@m wRtER §


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap



